1EHEADRBERFELEINT

98t BIEELE SHSERE FOE: e 1 R
[ERlhs | 6 4 38 4
ERIE 5 1 56 5
W[t} 4 1 31 3
HEH |BHLE 3 211 2 6] 13 163] 4 17 11.6%
BE 2 0 8 -3
ERIE 1 -2 16 3
EEEE-m 0 0 1 1
ERldR ] 0 0 1 1
IER =] 0 0 3 3
IEW;: i} 0 0 0 0
REEH |BALE 0 ol o of o 4 o 4 -
3 0 0 0 0
IERES 0 0 0 0
EEEE-m 0 0 0 0
ERldR | 7 5 46 9
IER ] 5 1 72 15
=W ] 5 2 36 4
BEH |tHLE 5 27| 4 12| 15 206 6 44 27.2%
HE 4 2 11 -1
ERIE 1 -2 23 8
EEEn-ml o 0 3 3
2FLIRTT DI BB R FEEKR
9HET AIELE SHSERET AISELE IS
HEH 346 -52 3,243 42 1.3%
FEE 1 -2 18 -2 -10.0%
ZEH 390 -57 3,724 93 2.6%
JAEBENDRBEHFEEKR
9H &t BISELE SHSERE BIEELE S
HEH 717 -3 6,393 300 4.9%
FEE 9 -7 89 6 7.2%
ZEH 826 2 7,470 386 5.4%
| 2 AIlIX X 38 = i T 38 | [HSE 1A1E~9ARKAE( IRNIFATEL]
G E MR 16344 anl|E
FEEH 4{ A CHIPN
B8EEN 206] A 4| A




